| Efficien

cy vs Dxy |

> 0.1
Pad
i®)
.09
>
3.08
D
D.07
©
0.06
0.05
0.04
0.03
0.02

0.01{|}-

OF

T

Ratio

0.8L

] SN E S B

0.9 }--

(19|
. ' "

ui

=25 20 15 10 -5 O 5 10 15 20 25
TP dxy (cm)

| Efficien

Fit_TTNEWHSMS9

—=— DOM_mMKFEt_TTorginal
—e— DOM_mkFit_TToriginal-106
cyvsDz | |—— D m{g

5
Fit_TTNEWHSMS50~,
FIt‘TTNEWHSMSlOO A

N 0.2
o

0.1—

7R SR IS T T ——
5 F
e s S A
[&] - N N N N N
.14 P P rorneree AR
o : : : : :
LJET7] SRR S ST S S RS S o

...............................................................

TT T T [ T T T T T T I T T T [ LT T T TT
T T

—30

=20

20 30
TP dz (cm)




	Contents
	Page 1


